Feb 17, 2022 Math 251: Quiz 5

Name: /25

There are 25 points possible on this quiz. No aids (book, calculator, etc.) are permitted. Show all
work for full credit.

1. [15 points] Find the derivative for each function below. You do not need to simplify. You do need
to use parentheses correctly.

a. y=csc(x) +sin(m/4)

y C s ot +0 = — s () eot ()

b. f(x)=sec(2x)

‘? ’(7(’)1 S@C(Z;() "}'ahCZ%) J=7 Sé(.(x)?fan (;()

o) = X (c.osc,a)

6&0 2 X @ob@} Fox-C 5)(coscx\)( slhc,q)
’Zx([,osoq\ +5x smbb(é_,o&&) )

d. h(8) =sin*(n0) = ( sm(ﬁ@))

3 3
W (8)= 4 (Sm(ﬂ@% (Coscm\) (7)- 4T cold) (Sin (o)

e. y=/6x+tan(x/2) [(a X+ -?-a\h( x)]

/,,Zl[é,(_p %h(f;xﬂ ((D ¥ Saoa(éx>-5'>= (o 4’21 Sacz({)
2\[ Goxt+an(d)
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2. [5 points] Find f”(x) for the function f(x) = sin(2x?).

£ = cos(2) (#R)= Hx cos (24 )
£ () = Y cos <2XZ> +ix (- SM(Z;@)@‘@)
=4 CoS(Zx2> — /b XZS)V) (Zx7’>

3. [5 points] Let g(x) = (x> — 6x)°.

a. Find g'(x).

g ‘(<) = ECX 40%3 (ZX é) JO(x- 3)(>( 4,><>

b. Find all x-values where the graph of g(x) has a horizontal tangent

hoyizoninl thohif m&mhﬁ 0\ ) = 0.
Let 0= 10 0-3) —(px)

S0 xX-3 =0 oY  Xbx = O

Se  X=3 or X (x-€)=0

X=0 or X—bG= O

x=6
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